HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

2%xX3=06 2%x2=4
( ) (
2X060=12 2%xXx9=138
( ) (
2%X5=10 2X1=2
( )
2%X8=1606 2x7=14
( )

2%X4=23



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

3xX7=21 3X2=06
) (

)
3%x3=9 3xXx4=12
( )
3xX9=27 3X6=138
( ) (
3X5=15



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

4%2=8 4%1=4
( )
4xX8=32 4%x9=36
) (
) (
4%x4=16 4x60=24
) (
4%x5=20



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

( )

bx1=5 5x3=15
( )

5x6=30 5%4=20
( )

5% /7=305 5x2=10
( ) (

5xX8=40



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

6X3=18 ox4=24
( ) (
o6xX8=48 6X1=0
( ) (
6xX5=30 ox2=12
( )
O6X6=3606 oxX/7=42
( ) (
oxXx9=54



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

7%X3=21 /%X9=063
( ) (
/%X5=35 IX7=49
( ) (
( )
7%x1=7 Ix2=14
( ) (

Ix4=28



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

2%xX3=06 2%x2=4
( ) (
2X060=12 2%xXx9=138
( )
2%X5=10 2X1=2
( )
2%X8=1606 2x7=14
( )

2%X4=23



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

3xX /=21 3X2=0
( ) ( )
( )

3X3=09 3xX4=12
( ) (

3X9=27 3X6=128
( )

3Xx5=15



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

4%2=8 4%1=4

( ) ( )

4%x8=32 4%X9=36
)

) (
4%x4=16 4x60=24
)

4%x5=20



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

( ) (

Hbx1=5 bx3=15

( ) (

5x6=30 54=20
)

bx7=35 5x2=10
) )

5xx8=40



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

6xXx3=138 6x4=214
( )
6xX8=48 6X1=06

) (
6%Xx5=30 o6x2=12

)«
6EX6=36 o6xX/7=42

) (

6xX9=54



HARFETES I«

() DPCHAADTEHLFZBARBTENTHID !

7%X3=21 /%X9=063

) (

/IX5=3D5 X 7=49

I X8=56 I1X6=42

7xX1=7 Ix2=14

Ix4=28



